Efficiency vs Dxy(PV)
S‘0.0J E

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TT_base
—e— DQM_mkFit_TT_retrain_noCandDNN
[ Efficienc]| —— DQM_mkFit_TT_retrain

S 0.5
?0.4
o
1
>
0.
c
k7]
] :
®o. P {3V K FEEEERTEREEY EESED | B O
0.1 B IR SEEREREERY |13 S B P
o - .
T ) |
g i - w
-1-0.8-0.6-0.4-0.2 0 02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

o
3

o
)

o
o1

efficiency vs dz(PV)

o
IS

o
w

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

> F

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


